


[ﬁf’] THATHNS T80Ty - OTNIRAS, 208Y,

St e =
h2308% .

R iy Y T D @
A% ] co3ts | 40F, swillred =) B T.Q) TS 1 lwn T A=Der ¥
55 RS A= S (heZ) T3, (12088 MM TR,

h=)| nBg,

[T (X+Ha) = | Sm{rrﬂ;\.):fy’_i gpoil,;'/l (70)

Ui FARHmD. A= 2(nez)

Wiehtt

{M 1053 %= " (ned)
=2 v '{tﬁl
—4

i



5

it

2
(7] 45T £ Yomlins) v8<. ek, - (¥ FATA) 2o LrfHo J]
o EfE
3 A oot = b
U (o) X 4w G- oL+ 4 (am=am=).=0
QEFR TN, 0o IR DT, o> 2?%%?1%%4%;1\
bra & {amtram = (ani3) ) 2 (4ie-t4m-2)] 7o ‘

i

-0

@ -t 7047 |-l amer]T
Yobet: 002 FEAT LD Weprtiy, Ipa) |PRY,
[l a-21, T ) B2l
75254385, T=1pal-1PRi iz 0nEd Fuyedse.
1= () | Gooyep-a|

e l

2% 3

= (14w

Tm®
_—T’_ -
2w

= ayL
40 =) .
Y53.220 Q. 0<mi< 39 RN,
5= 2’3 < Q+4)2
\

of—

C .
AT a3
5 Lo
TR T
Q@ RATMTL

& b -
- 5s5I< TI*TUOHL_)#

ez
! (i



U‘HZ] g‘_ﬁ')\ﬁﬁi’lﬁ% L= %‘{(Cm’i*(mﬂ 1 MTC,‘I%&H thCn ] ',

= 2 Ot £ [ (G ton 1= 3 (G102 (o) )0
T (\" CV)HZC'H) f= El:z IS t.fi‘c'ﬁ)"(,

() dnm Pl Qo= PlOra=Ced G Con-Go)
; |

= P (CV\O'CVI)'YZ (C\m‘lcn) = (p+f) Owea — (P"‘ZZ) Cwn
= Cvn-:. ‘%E:"CW

fothd
Pan= Plyr, - E l:-g; Cn == %Gy = dut

2

J Q(?F"i“ (415
w ‘L’_ 2

h"’ = ic“ﬂ +PCW- %(Chu'Cu)*‘F(Cnu‘ZCn)
= (o~ (22+4) 00

k%
Pt -
NS [ U v =

(@) di= pG+4C=P, B=90APC=9 b (CUELAT.
dn= Pm = (J_ﬂi]“

e (B
-

i



B 4 [E

1

] £-cnl, S=m LB X.p=Cietde Ser S5— BB 0TS,
'E(J)’S(S-c)-oul)w(s-c)(stcﬁ) ) -
Fo=3(C4S) 2wl .

= 3(ct9) +iSc
=3pagf-y = O (p4)

1%, 0% Hbt 7 T3,

B0 BN = 0BF S-C7 0, A=Posf S-ceokmb | 5
fweFam-[r3 1-
%5@ B G- - L -0

Y11 -q>—¢iﬁﬁ)+m
bex- 1 rv-irk’vﬁﬁ

0T
:+

§
- %

e



}
iy
g

=

[FF] ontdombls -3 (oo (dhtmca (a-ppx) THLAPEO 4-PromS, ‘
5\9‘“ do- omPh = 1 7#7\53_ gon{dtP)2L - ﬁ wv(,o‘-P)ﬂJa ‘

‘ .
=1 (ﬁgsmwﬂl)- ﬁsmlo{'l‘)) 0|
\ 29 PO
" 1 - — wi =T ——— ‘\“"‘\.i
2 w2 0BT c=\'JL=tﬁm -t [Thov S =3 L
28,2070 19 1adl20, 28 Swdlyedo Fi$ T-E1T0D
A
- - e B ¥ nbe-n =
{\“—(d"’?) Y"\'d‘ p § F [}\ u“‘r} {.PHP‘J

B

S 97 sode- P - wped= -
(b (4t )

Rl Apa sk fro RS |

(AB)= (2d42p,24-2p) ‘.“

(22428, -2 52P) |

- \

T QR i

=3 ﬁ"""‘t L !

(59)=-3 1-‘5;"“&‘1[&‘;1{ $E T I5F ‘- 0_“ |



U] Y=-2oretn) Emt-tk pi3 iGN
=425 (et +)
b3, Jey=rekE g W
= (-4 -2t-1= 9 0
0BT . QotIBIA DLLT
D=(Hefr4(2t%) 70
5. 0 452 PERRTH 200, J0Td. ety Wep) LemdBifn.
N =Sf]—1‘+ (Hepr2aldo= (B0’ -
21T APRTOMS -

MWL 7w | B 1385.04 108 Wg:-b'-l} B2 'T?% L gy,
—



